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® 10cm @9cm ® 8cm @ 7cm

~&B

® 6cem

(27152 2Hol)
= (ZYo]) x2+ (FHol)olEE

EolE[ et std

10X 10x3.14x2+2x 10 x 3.14 x| |=1193.2
628 + 62.8 x[_|=1193.2

62.8 x| |=565.2

[ ]=9(cm)
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@ 748 cm @ 868 cm
@ 1182cm ®)1496 cm
® 78 & gz

2715 AHZON A FHL AA2EF ] 7pRo] Lol Te]
Az0} 2Ly

et A7) S8 9] Aol

(50 x 2% 3.14) x4 + 120 x 2

= 1256 + 240 = 1496( cm)
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@ 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88cm?

(U] 9F)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(RH Q] BFZ] 5 )= 12.56 + 3.14 + 2 = 2(cm)
(BYlo]) =2x2x3.14x24 1256 X5

2
25.12 + 62.8 = 87.92( cm?)
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@® AF°] 8cm ©]1L, E=°]7t 5em ¢ ¥71E
@ ®BF21E°] 6cm ©], =017k 3em Q1 Y715
® T EAY7F6cem Q1 HSHA

@) 29t 201cm? A AL AA

® 2o Y571 31.4cm ©]1,

Hir

o]7} 3em ¢l Y75

~&B

D 4x4x3.14x5 = 251.2(cm?)
@ 6x6x3.14 x 3 = 339.12( cm?)
® 6x6x6=216(cm?)

@ 3t mAE] o] ZdolE | Jem 2} shd

[ Ix[ Jx6=294, |x[ ]=49,[ ]=7(cm)
b Hulls 7 x 7 x 7 = 343(cm?) YUt

® @Ho gtz 50] 31.4 +3.14 + 2 = 5(cm)

o|E 2 Hull 5x5x3.14 x 3 = 235.5( cm®) YU Tt
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~-10cm -t 5cm|

@ 3140 cm? @ 3925cm? ® 4710 cm?

@ 5495 cm? @6280 cm3

(2 97159 §HA8)= 15cm
(2 ¥7159 H1) =15x15%x3.14x 10
= 7065( cm?)

ru r

(e 97152] WA E)=5em
(Fr2 47159 B]) =5x5x3.14%x 10

= 785(cm?)
(FAR YA =g ] F1]) = 7065 — 785= 6280( cm?)
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o] ZYZ+ 4cm, 8cm, 12cm € W, 9]

IL.

@ 301.44 cm? @ 414.48 cm? (@)527.52 cm?

@ 590.32 cm? ® 653.12 cm?

7} 47159 IYol= 4% 3.14 x 4 = 50.24 (cm?)

U 97159 dylol= 8 x3.14 x 4 = 100.48 (cm?)

o 947159 dyolE 12x3.14 x 4 = 150.72 (cm?)

WH O] Woli 6x 6x 3.14 = 113.04(cm?) °|2&

A B ol 50.24 + 100.48 + 150.72 4+ 113.04 x 2 = 527.52
(em?) 7} Yt
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((@803.84(1113 @ 1756.12cm? 3 608.44cm?
@ 589.76cm? ® 456.12cm?

(6x6x3.14%x8)—(2x2x3.14x8)
= 904.32 - 100.48
= 803.84(cm3)
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Adlo]7t 251.2cm? ©]
Qhof| gugte =5 A

T, =0]7F10em 1 YA=F YU [ ]
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Folx =3 9] gHol xS0l [ Jem o]
=07} 10cm 1 Y7152 Fyole] grojmz
(FHol)=2x] |x3.14x10=251.2x 2

[ ]=251.2+3.14 + 10 = 8(cm)
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® 175.84 cm? @ 178.98 cm? ® 200.96 cm?

@ 207.24 cm? @251.2 cm?

(Ol Ho]) =3x3x3.14-1x1x3.14
= 28.26 — 3.14 = 25.12( cm?)

(B2 Gylo]) =6 x 3.14 x 8 = 150.72( cm?)
(o1& dglo]) = 2 x 3.14 x 8 = 50.24( cm?)
(A B¥lo]) = 25.12 x 2 + 150.72 + 50.24

= 251.2( cm?)
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@141.3cm2 @ 125.6 cm? ® 109.9 cm?
@ 84.78 cm? ® 62.8cm?
Sk,

A Go] AAEAA
(RAZe) 247te] 37)
=180°

A2 O] AAEA

F47

ELED
=120°
webA (22 GOl

+ (98

o 217))

—

186
=36x3.14x —— + 81 .14
3626’*+ X 3.14 x

— 56.52 + 84.78 = 141.3( cm?)
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